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40(  B) W/C65%
( )
,30  50m 1.472 m3 1
SP
s 2.000 33
SP
12.5cm 17.5cm s s RC-40 40 Omm 14.720 30
( )
,30  50m 2.200 m3 2
(_),1:3 0.254 m3 36
10.000
2
10.000
B1100x H800
U . ,L=2000,1000kg 2000kg/ . 2=s=s 10.000 13
H800x B1100x L750 13.333
( ),1:3 0.254 m3 36
SP
s s s, )=y ,-,18-8-40(  B) W/C65% 1.472 m3 32
SP
s 2.000 33
SP
12.5cm 17.5cm s s RC-40 40 Omm 14.720 30
10.000
3
1.000
SP
5 N 27 = ,-,18-8-40( B) W/C65% 0.718 m3 32
SP
, 7.607 34
( )
,30  50m 0.718 m3 1
1.000
4
1.000
T-2 B650x H320 2.000

T3136401




2)

T-2 B1000-L2000 1.000
( )
30 50m 1.200 ton 3
SP
30m2 s . ( ) t=20mm 0.220 35
( ),1:3 0.026 m3 36
SP
N N e 2= ,—,18-8-40( B) W/C65% 0.170 m3 32
( )
.30 50m 0.170 m3 1
SP
s 0.400 34
SP
12.5cm 17.5cm s i . RC-40 40 Omm 1.700 30
( )
,30 50m 0.260 m3 1
1.000
5
10.000
® 600
VU, 600mm, ( ),4.0m ,0 s 10.000 14
@ 600,, 3.000 5
30
VU, 600mm, ( ),4.0m ,0 s 5.000 15
10.000
6
10.000
40% 60cm 170.000 6
5.100 4
10.000
7
10.000
62 x 48 170.000
5.100 4
10.000

T3136401




